L im. o~ TN
DIN# ARK Q +38096 0110103

Poawmip/AiameTtp

L m2 | w25 | M3 | M35 | o ma | w5 | M6 |

Poawmip/AiameTtp
s [ w0 | wiz | o | 2o
Méx1 | M10x1,25 | M12x1,25 | (M14x1,5) | M16x1,5 | (M18x1,5)| M20x1,5
- M10x1 | M12x1,5 - - - .
Poswmip/AiameTtp
| w22 | w20 | 2n | w30 | us | wse | ms |
M22x1,5)| M24x2 | (M27x2) | M30x2 | (M33x2) | M36x3 | (M39x3)
Posmip/AiameTtp
Ma2x3 | (M45x3) | M48x3 | M52x3 | Msexa | (Meox4) | Me4xa
Posmip/AiameTtp
| o | 1/4unc | 5/16unc | 3/8uNc | 7/16UNc | 1/2uNC [ 9/16UNC | 5/8UNC
Poawmip/AiameTtp

I 7 72 T KR e s e

O - pO3MiIp HE PEKOMEHAYETLCS
d - plameTtp
| - AOBXUMHQO

www.dinmark.com.ua

info@dinmark.com.ua




